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 : (1)       . 
   (2)     . 
 

-I 
      : 
1. (A)  –     ?    .  10  
 (B)       A  B    .   

 60  50  : 10 
    




2.02.0
6.02.0  

 
2. (A)     (Pareto)   . 10 
 (B)    .  (Price)       

.  10 
 
3. (A)     ?  -  . 10 
 (B)           :  10 

  
   

2017 25 28 30 
2018 26 32 36 
2019 31 36 40 
2020 35 41 45 
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4. (A)     ` 3,00,000  ` 3,50,000      
   : 10 

  

(’000 ` ) 
50-200 200-300 300-400 400-500 500-800 

 120 125 170 155 130 
 (B)  log 50 = 1.6990, log 56 = 1.7482, log 60 = 1.7782     log 58 

  . 10 
 

-II 
5.     : 10 
 (1)    (Open  closed)       ?  

 (2)    . 
 (3)     . 
 (4) -   . 
 (5)    (endogenous)   (exogenous)  . 

_______________ 
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Instructions : (1) Figure to the right side indicate full marks. 
    (2) Use of simple calculators is permissible. 
 

SECTION-I 
 
 Attempt any two questions : 
1. (A) What is input-output analysis ? Explain construction of input-output table. 10  
 (B) From the technology matrix is given below find the total production of each 

industry if the final demands of industry A and B are respectively 60 and 50. 10 
   




2.02.0
6.02.0  

 
2. (A) Explain Pareto’s law of income distribution. 10 
 (B) State importance of Economic Model. State and solve price determination model. 10 
 
3. (A) What is time series ? Explain different components of time series. 10 
 (B) Find seasonal variation by method of moving averages for the following data :  10 

Year Season 
Winter Summer Monsoon 

2017 25 28 30 
2018 26 32 36 
2019 31 36 40 
2020 35 41 45 
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4. (A) From the following data, estimate the number of employees having monthly 
salary between ` 3,00,000 and ` 3,50,000 : 10 

Monthly Income  
(in ’000 ` ) 

50-200 200-300 300-400 400-500 500-800 

No. of Employees 120 125 170 155 130 
 (B) If log 50 = 1.6990, log 56 = 1.7482, log 60 = 1.7782, then using one of the 

interpolation technique find log 58. 10 
 

SECTION-II 
5. Answer the following : 10 
 (1) What is closed and open input-output model. 
 (2) State the national income model. 
 (3) Give two uses of Time Series. 
 (4) State two assumptions of interpolation and extrapolation. 
 (5) Explain endogenous and exogenous variables in economic models. 

_______________ 
     


